
Espressioni – Lezione 9

pag. es. soluzione
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177 230

178 16

179 30

180 6
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181 5

182 14

183 10

184 2

185 33
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186 56

187 24

188 4

189 5

190 12
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192
3

193
26

194
1

60 – 8  4 =∶ 4 =
60 – 2 = 58

10  (9 + 14) =⋅ (9 + 14) =
10  23 = 230⋅ (9 + 14) =

12 + (8 – 4) =
12 + 4 = 16

5  (12 – 6) =⋅ (9 + 14) =
5  6 = 30⋅ (9 + 14) =

15 – (7 + 2) =
15 – 9 = 6

35  (2 + 5) =∶ 4 =
35  7 = 5∶ 4 =

12 + 13 – 11 =
25 – 11 = 14

40  (8 – 4) =∶ 4 =
40  4 = 10∶ 4 =

17 – 9 – 6 =
8 – 6 = 2

(21 – 10)  3 =⋅ (9 + 14) =
11  3 = 33⋅ (9 + 14) =

(21 – 13)  7 =⋅ (9 + 14) =
8  7 = 56⋅ (9 + 14) =

23 + 14 – 13 =
37 – 13 = 24

(11 + 21)  8 =∶ 4 =
 32  8 = 4∶ 4 =

17 – 9 – 3 =
8 – 3 = 5

30 – (12 + 6) =
30 – 18 = 12

(21 – 13)  7 =⋅ (9 + 14) =
8  7 = 56⋅ (9 + 14) =

23 + 14 – 13 =
37 – 13 = 24

(11 + 21)  8 =∶ 4 =
 32  8 = 4∶ 4 =

17 – 9 – 3 =
8 – 3 = 5

30 – (12 + 6) =
30 – 18 = 12

7  6 – (4 – 3) =⋅ (9 + 14) =
7  6 – 1 =⋅ (9 + 14) =
42 – 1 = 41

7 + 11 – (9 + 6) =
7 + 11 – 15 =
18 – 15 = 3

7  5 – (5 + 4) =⋅ (9 + 14) =
7  5 – 9 =⋅ (9 + 14) =
35 – 9 = 26

23 – 15 – (4 + 3) =
23 – 15 – 7 =
8 – 7 = 1
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